Name

Practice

7-6
Dividing a Decimal
by a Whole Number
Find each quotient.
1. 13)68.9 2. 35)412.3 3. 90)14.4 4. 60)53.4
5. 123.08 +34 = 6. 0.57 +30 =
7. 562.86 + 59 = 8. 244+80=
9. John paid $7.99 for 3 boxes of cereal. The tax was $1.69.
Excluding tax, how much did John pay for each box of cereal
if they all were the same price?
10. If a package of granola bars with 12 bars costs $3.48,
how much does each granola bar cost?
A 29¢ B 31¢ C 44¢ D $1.00
12. Explain It Explain how to divide 0.12 by 8.
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Name: Basic Facts

Division

12+3= 4+4= 3+1= 16 +56=
4+2= 63+7= 12 +6 = 16+2 =
16 +2 = 72+9= §+2= 2+1=
16+ 4= 14+2= 56 + 8 = 63+9=
27 =3 = 49 +7 = 9+1= 45 +5=
16+2= 54 +9 = 48 +6 = 12+4=
20+ 4= 15+3 = 3+3= 8+1=
4+4= 20+5= 24 +8= 9+9=
18 +3= 28+7= 12+4= 48 + 8 =
15+5= 27+9= 45+9 = 45 + 5 =
10 +5= 6+3= 21+3= 20+4 =
42+6= 5+5= 72+8= 63+9=
18+6 = 7+7= 36+4= 24 =8 =
45 + 5 = 9+1= 18 -9 = 42+7=
49 +7= 24 =3 = 20+56+= 8+4=
28+7= 56 +8 = 12+2= 12 +3 =
54 +6 = 6+1= 42 +7 = 81+9=
48 < 8 = 9+3= 8+1= 24 +8 =
14+7= 18+6= 6+6= 56 +7 =
7+7= 16 + 8 = 2+2= 3+3=
54 +9= 1+1= 21+7= 12+2=
24 +8 = 36 +4-= 15+3= 72+8=
64 +8= 48 +6 = 56 +8 = 14+7 =
63 +9= 64 +8= 14+2= 21+3=
27 +9 = 7+1= 63+7= 2+2=
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